As x approaches oo, \$ -

Also note H.A is y=0

Horizontal asymptotes

Horizontal asymptotes m = degree of the numberator, 2(x)  $f(x) = \frac{p(x)}{2(x)}$   $n = \text{degree of the degree of$ 

the H.A. 15 Y=0 the HA is you > book coeff no H.A. exists m>n

The line y=b is a horizontal asymptote of the graph of a fan. y=f(x) if either

We can also use the degrees of the numerator and denominator to find limits as x > ± 00

ex 2 Find the limits

$$\int_{x\to\infty}^{y\to \infty} \frac{3x^2 + 2x - 1}{x + 1}$$

doesn't exist

sometimes we say it is a

Evaluate

$$\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$$
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty} \frac{3x^2 - x - 3}{5x^2 + 4x + 1}$ 
 $\lim_{x \to \infty}$ 

3) 
$$\lim_{x\to\infty} \frac{3x + \sin x^2}{x^2}$$

3  $\lim_{x\to\infty} \frac{1}{x^2} + \lim_{x\to\infty} \frac{\sin x^2}{x^2}$ 
 $\lim_{x\to\infty} \frac{1}{x^2} + \lim_{x\to\infty} \frac{\sin x^2}{x^2}$